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Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal places. (If a triangle is
not possible, enter IMPOSSIBLE in each corresponding answer blank.)

A =140°, a =105, b=230
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Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal places. (If a triangle is
not possible, enter IMPOSSIBLE in each corresponding answer blank.)
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A=75° a=11, b=18
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Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal places. (If not
possible, enter IMPOSSIBLE.)

A=75% a=34 b=21

a is long enough, but too long for there to be 2 solutions.
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Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal places. (If a triangle is
not possible, enter IMPOSSIBLE in each corresponding answer blank.)

A=054° g=122, b=134
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Area of an Oblique Triangle

The area of any triangle is one-half the product of the lengths of two sides
times the sine of their included angle. That is,

1 1 |
Area = Ebc sinA = E“b sin C = Ecu,' sin B.
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